. A - HEZ 2018/5/19—20 SHE B AHINAL - 2R 5
sty I Sope e & ,é'.-/«k—,mt J:;"/_SL\ =2 AN ‘D“
Bt | RTINS PR & R ERR (HH7e2) P SR SO £ R AR VE L5t R KK Bl
AR RS | SRR E A - ST b - SRR - SURRR T S Pt TR LR A
At | &R 10z 2% 3hr 447 A 6hr ThE 8hL
5A207] 100m |FE =100 10.74 (+0.8)[FEF &Hth(1) 1076 +0.8)[#iH KFB(U)  11.03 +08)[KT #—(1) 1115 +08)|[{FE EFE®D) 11.29 +0.8)[JII& &) 11.49 (+0.8)[82 HE) 11.62 (+0.8)|ME #fF(1)  11.65 (+0.8)
Zl 3 RAXER 3 tE pe-Tric} 5 SIEREE
5A207| 200m |FFRE EER(1) 22.02(+0.1)[ZRE #RiE®1) 22.95(+0.1)|B&EH &) 23.16(+0.1)|F% =|(1) 23.22(+0.1)|#25@ EEQ) 23.31+0.D[/\K #Fth(1) 23.46(+0.1)|E (1) 23.47+0.D)| KR HWE®) 23.58(+0.1)
&E EE B [k TtE Z 3 p-3 3 RAXTER
5A207| 80om EEIE:EX0) 2:01.85(fiF (1) 2:01.86|EA& EZA(1) 2:02.63|/M& EEE k(1) 2:03.03|EF FWE®) 2:03.36[#8H EH(1) 2:03.50] %3 —LF O—H2() 2:03.88|BE K1) 2:07.61
Hil FEt Z 3 &E ARSI T b3l TR ihy
5A200| 3000m |EH EE) 8:30.72| /R 1&—8&R(1) 8:50.34[1£%F 1RE®) 8:51.71|#HF RF() 9:01.20| )11 K1) 9:1457(&F EIK() 9:15.34[RRER #£A () 9:17.91|JIIAR FK() 9:25.12
& GR|F#B5 X 78 & H RERSNKF Eft [z:pyl Hel
5A19A] 110mH EEEEZ 0 14.51 (+1.4)[HL 41 14.66 (+1.4)|EH ZEARER(1) 1476 +1.4)| AT #MWO) 1514 +1.4)|HE EE®N) 1559 (+1.4)|F®% Km() 1614 +1.4)[{EE B—1) 16.19 (+1.4)|#=Kx BEHM(1)  16.63 (+1.4)
) &E || FE#tt B b3 idhy 53 id]
57197 | 5000mw [EFF FMD 27:00.98( =W (1) 27:43.11| 818 KE(1N) 29:25.40| B4 #5B5(1) 29:53.99(3F #h{=(1) 30:54.03| 54 HH() 31:21.94(18 Z=—ER(1) 31:30.52
Al R A3l ik FE Tk Z 3l FE T 2R
&E 41.65[Z. 3 42.92|7EE 43.64|FEmR 4431|318/ 44.45|Hk1L 44.91 | FI5 45.15(F5 5 45.16
AT #H—1) g BEO) BX H+E B0 2 FErE() KET X&) =k B aE BXO)
520 A 4x100mR|FEE Fh(1) Sl 41 RNk EKR0) AE EFW0) HE #A0) B BEAX0) BIEF BEEL(1) TRR wd)
RS HzE BX(1) T Eth(1) hE EE(1) WA 1&E1) A EEG) E&N &I M K—1) Fil &R0
HE #E30) J\KR_$ath(1) #E EEW K _EH1) AT _HEH1) g HRE0) A+ K@) WA ER)
RN 1.85(FH #X(1) 1.80|FH Efa®) 1.75(H% £ BE®1) 170|411 FT() 1.70| 5B #Ex() 1.65
FEIR E # a3 Z 3 B
5A200 | Ak ;E ) 165
Rig A0 1.65
£ I8
5A190 | e =5 B0 4.10[#iR EZ() 4.00| EBR K1) 3.90[d#t w2 () 2.90
b3 3 e i b3 ik
5H200 | g [TV FIVEAD 679 (1A BB 6.41 (+1.4)| KIE K1) 6.38 (+0.5)[fRiK (1) w633 (+2D(IUT FEh(1) w6.29 (+2.7)[F08 =(1) 6.15 (+1.3)[ M0k HE(1) 6.06 (+1.7)[ XA SEE(1) 5.95 (+2.0)
& & Z 1] Z =2 E¥ t#
5A190| R il BEQ) 9.50( B Kith(1) 9.46(2F [E(1) 9.34| )11 () 8.37[4 (1) 8.32|B0 $E() 710| &R #BX() 710[ B L EFE() 6.92
0 A E F L B i RN ikl ) B
5H200 | mm ENIE:E:00) 38.43| K HEXE(1) 31.92(FH A1) 2847|18E XE®) 28.17|EMA FEXR®) 2761(581 BBR1) 2452(BE HEN) 19.54 (3K 1&E(1) 16.74
— |EE Rt B Z 3l R &M KK 5t
VES e [&E 88 Z 53 i 40 Em 29 REt 27 FEE] 22 E[Ar1: 20 BER 20
5A20A| 100m A #Q2) 10.59 (+1.9)[#iH @) 1088 (+1.9)|HEAX EEQ)  11.04 19|40 #E@)  11.05 +1.9)| KR RIE®R) 1111 H9[FEKR #HE;Q) 1131 H1L.9|ILKR EEQ) 11.33 (+1.9)|#8H () 11.37 (+1.9)
Z 3l EE &E TSR Z 3 B p-Yii BE
5A207| 400m [EPR ERTO) 49.35|F[R #hiE2) 4958 H HIF(2) 50.01| T/ X#1(2) 50.67 [ #t EEFQ) 50.68|EE%F FAERQ2) 50.78| 75 K1E(2) 51.25(E+1% IR#H2) 51.42
Z 3 Bl &E SRRt Z 3 =il i BI5]
58200 1500m =4 RO 3:54.24(RE #H(2) 3:57.59( B EA(Q) 4:05.95(F% HEHQ) 4:12.65[18 EEHH(2) 4:12.90(F Il —#E(2) 4:13.42( )11 R{Z(2) 414817 A& A&l 4:15.53
& EE Hil H# &M RS KT i3 s
5A190 | s000m | EQ 145092[&k (2 150286 BF BAQ  1511.80[H# BAQ) 15:1585| B% A1) 151881710 A2 15:2047| T TR (2) 16:35.14| k3 _R1B2) 15:38.92
BE GR|# GR|F#HNKFE GR| kLl AT RS KT & REREE
5A19A| 110mH # HiEQ widaa 2.0)[EH E@ w1516 2.0[ILA EHQR)  wis23 2.0|FI 5FAQR)  wi5ss1 (+2.)|&H KHE(Q2) w16.26 (+2.1)|HEE BEARER(2) w16.33 (+2.1)|¥7iR WE(2) wi16.65 +2.1)|HF BIEQ) wi7.13 (+2.1)
& Fikd] REFE ik 83 gy B 1EE
58198 | 5000mw | EF #81(2) 21:57.65|#3 8 [=(2) 21:58.09|K#& HEQ2) 22:00.98| B Il HAER2) 23:22.11(3F #K(Q) 23:36.32
::p7/] GR|FAR GR|FE TP GR|4E)I| [ichy
Z 3l 42.03| REDEFEE 42.85(m5 4307|318/ 43.24|316pEE 43.29| A5 43.30|BEBKRER 44.06[;&%8 44.29
HO 232 E=Fi - PN0) HO g2 L) BRO EH2) W@ EX@) MO EzB2) X5 H—2
5720 H[4x100mR| KR MIE(2) hE £(2) ZR HRiEQ2 EX B#H2) MO MEQ Tk B2 A EEQ) tHE #EQ
UE T TEim B#2) nE KAL) E+HiE BRI Sl EILQ2) 1=y 27102} &k BEERQ) Lt XK—©2) i 2)
R #Q) iRE KEE(2) INFEIEQ) b T4 0) $hEE B2 (2) EH RO == WA ’E(2)
Bl m(2) 1.85|RE HiEQ2) 1.85|chE EAHA2) 1.80[/M2 #1(2) 1.80| FH# KB(2) 1.75|FREE EZ A (2) 1.70| B8] #Ath(2) 1.70
sA208| e BB Rl & ikl # ik ke
&I BE®@ 1.70
R
5A1908 | ESS IO 450(db4 2(2) 400(BR WMEQ 400[FIL B2 3.70[rreh 1K) 340|X% E(2) 3.40
by ik B Ed i Eld0
5H200 | ek TH 842 6.54 (-0.4)[(ER ZEm(2) 6.31 (-1.4)|55H Q) 6.27 (-0.9)( A% EIR2) 6.26 (-0.4)| LI HKR(Q) 6.24 (-0.0)[/NE #EKR(2) 6.11 -1.3)[R1E &HQ@ 6.10 CO.D[JIF &KX @) 6.09 (-0.9)
&E AN 44 k1] Z 3l k74 %% Z 3
5A190| R A E&k) 14.63(BEH RER2) 9.92|ILTF IBF(2) 9.80[FER 4Fh(2) 8.85| &K F|HL(2) 844[/N\K £(2) 781K+ R(2) 7.24|%E #i(2) 7.08
Z#l GR|FR B RMFE REAH Al AR BE
5A190 | ~ye—iz | R RN 5425|811l $(2) 44.26(#% RI(2) 38321 HE(2) 3551|383k KH#(2) 23.03
tE b 2R Z 3 iy
5200 %0 SR REQ) 52.45()1[ £ A&k©2) 49.83|A E(2) 44.90|[EA ZFE0(2) 43.46|/h 7% BA(2) 41.14|F W RQ) 40.19| KH# EHE(2) 387112 K BEAQ) 3852
AL Z 3 2R Z 3 RETED Al Eld b5
2EGa [z 62 & 60 i 46 R 29 FaikG 20 B 20 # 18 5] 14
w (wind assist) : JBJEZ &

GR: R Hac sk




8 A - HEZ 2018/5/19—20 SHE B AHINAL - 2R 5
sty I Sope e & ,é'.-/«k—,mt J:;"/_SL\ =2 AN ‘D“
Bt | RTINS PR & R ERR (HH7e2) P SR SO £ R AR VE L5t R KK Bl
EMERIRA SRR A - R b b - SO » SR T s Pt TR LR A
At | &R 10z 2% 3hr 447 A 6hr ThE 8hL
5A208| 100m |FOE #(3) 1067 1.0[EHHE EFQ) 1073 +1.0O[HE #ARG) 1079 +10O[#E BESR) 1082 +1.0)[F=—/L HEHQ) 11.051.0(ILE —£B)  11.10 +1LO[EH XHO) 11.25 (+1.0)
&E 3 DI Z A4 30 REKH
5200 200m BO HFEE) 47.92(FH HEQ) 49.77|/Mk FK @A) 5051|424 FAG) 51.07[;F L EEth(3) 51.37|1&A BENEQ) 51.86( K HEHE(3) 52.64
j GR| Z 3l REARREFEE Zil by X8 R
5A200] 800m Bl ER) 1:54.68| =H H=(3) 1:57.48(F%MA ZE®) 1:57.90|FEA& RE(3) 1:58.31|=HE HEHRHQ3) 1:59.18 (B¢ AR EEh(3) 1:59.52(F&IL AR#E() 2:02.04|Fi# &1 (3) 2:05.56
B AR E Z 3 B il &F ikd ) A gL
58198 5000m =EF EE) 14:52.81|LLE FIHE(Q) 14:54.61|F 1L &) 14:54.97| R #HE3) 14:57.39|FFH L) 15:06.01|#H #iRE3) 15:34.66 |4t B () 15:38.89|#8H FEK(@) 15:39.84
) SId ik VA wNGic] h £3 & Bl M &
5190 110mH =i BE£Q) 14.88 (+1.7)|ERE #FEG) 1523 G1.D[AN EAG) 1542 +1.7)[=E EQ) 1578 (+1.7)|FH E&EEQ) 15.80 (+1.7)|n@k #4(3) 15.85 (+1.7)[{R# #E@3) 1587 (+1.7)| %8 BEZN@B) 1610 (+1.7)
) ®E B REXH ik tE Z 3 FE#it Z 3l
54200 400mH BH KEQ) 54.62| R IHEQ) 55.28| U3k BRIK(3) 55.48 (B F52HQ3) 56.47|JIIEH {@KER3) 57.00({B8 FAKEQ) 5757|/N& BA®) 57.76| B (3) 1:00.48
&E gy Z &l p-Yiil 1EE b3l STERER REKH
SH%H‘WWMCEM [EE6) 9:2501(FiKR #HFE®Q) 9:29.84[#21L1 ABR(3) 9:39.25|/N& RHR(R) 9:50.69[/E& RA®B) 10:09.08[EfE &) 10:11.43iMEIE BX@3) 10:20.74|% T R2IEQ) 10:20.89
) | R#ERSN AT EE ARSI KT Z 3 sl REXH B Eis
5A19H 5000mw | LT E@ 21:54.03[3 R H=(@3) 21:57.51|&)1 BEBE3) 22:45.66(ILTF ME3) 23:1393(E# HEEG) 24:35.81 (8 FOHH(3) 24:41.44( 3 E—ERQ) 28:11.41|TE ZEX@3) 29:22.97
) M3l bl Al BE B ] AR TSR REI R
B3 3:16.38| Z 3l 3:19.98|3& @ 3:21.21| AR 3:24.16|Fatk 5 3:25.41 | 3L &nAE 3:26.50 | 5 & KBt 3:30.10[& 26 3:31.47
HH EFQ) B mE®R) B FKEQ) BHE EIREG) B 3 EQ) #E #@—BAG) EHE EHhQ) B B5H3)
s 7| 571201 [ 4x400mR | B3 & (3) HE BHEEQ) Bl #AEQ) MR BHEEQ) HE EHQ) HE FEHO) JEH EEB) AR EREG)
=E EAEE) BHE FILE) IWH BREE) B @) YR T=IE)) MK E—BREG) ol E&EG) 2O HHIEER)
F0O MHMFQ) hnEE Q) B HEEEG) AR BEHQ) e FEE) Il ERE) /R XKEG) NE E8BEQ)
B 3 EFEQ) 201|5# BABIQ) 1.95[FAK BEQ) 1.90 FE=RET) 1.90|5k 3 {85R(3) 175 &% &RE®Q) 1.60
sH20 | e (RIS 1 EE Bi1 EE R4 ER
[EH H#2(3) 1.90
i1 )
SA197| Herspk Y REEE) 450[HiR EHQ) 4.20|# REUE®) 4.20(/NEE RHEQ) 400(hE EEZE(3) 3.80[1LIIEF KF&(3) 3.70
b3 3 e i i 74 a3 R gy
sA200| ik (B0 =G 7.00 (-1.4)[F #EEQ) 6.62 (-0.5)| B4 E(3) 6.62 (-0.9)[&M EBEAR) 644 -1.0)[ILO AZAEREG) 643 (-0.D|EF REES) 6.43 (-0.8)|#H EIAQ) 6.33 (+1.2)|EHE REQ) 6.23 (+1.9)
dt#E E EE s b i’ AT 44 214
SA19A| =Bk 5 PAEO) w1458 (+40)[ K15 —#(3) 1400 (+1.9)[%EE K#2(3) w1400 (+3.0]4LME H3) 13.61 (+1.8)|@ 4RA(3) w1342 (+39)| £& BZ(3) w1310 (+3.8)|5F#& KE®A) wi12.86 (+3.8)| &L 1&FRE)  w12.83 (+2.6)
) FEIS E RERTE i) %% REREE R T 0% U2 I3 85
sA20n| My (KR FHEQ) 44.35( i HhHEH3) 4331[BE EHHEQ) 35.72|KiR £EQ) 3420 RIL() 2807(FRE EEQ) 2374k FH BZQ) 17.85
R EE R 44 HE gy bl
5190 | ~yepy | FHOBES) 50.36| R Z&th(3) 47.26| R #ZNO) 41.00| R4 HRHEE) 40.39
Z 3l #E & BR
5H200| oo Fif BEHER) 5442[5E% R@3) 52.85|7%F #EZ(3) 5108|840 £EQ) 49.84| TN FAR(3) 4785[%4E =|th(3) 46.79( R# RQ) 4323(45% EQ) 4261
Eft 83 i1 ] pegic) T R BER z:pyl 2
SEF ARG |&E 81 Z 3l 53 B 52.5 A5 385 EE 32 fi 29 R 26 A YN 21
BFRa Ftsa] 229 Z 3l 168 i 115 B 101.5 BE 75 ks 63.5 1EE 63 Jeigig 49

w (wind assist) : iBEZ#
GR: R&HTRCsk




. W H - w2 2018/5/19—20 FHE BRI B
B A -5 TUHR i A S I AR A (T A=
mtas (BTN RE R A RERER (R 07) Wb, ARG SRR £ T A B L3 ) TREL KK Bt
EfeFAARA | m A - kR ) - SR - SCHUT T Ftin 4 FURRRE i e
Aft | &R LAz 20z 3fL [YA 5L 6L ThL 8z
5208 100m HLE BEH) wi2.19 (+2.)|3RE #EH(1)  wi1265 2|k MMF) w1276 +2.1)[hEF FER() wi12.88 (+2.)|#EE #F() w1302 +2.D)|FHE FHE(N) wi302 +2.)|/NEFE EE(G) wi3.07 G2D[/ME FERZEA) wid22 (+2.1)
RS RN E iy RENE LA ST AR fE BERKER AR
5H20A| 200m |2A_FRED 2606 (+0.3)[EFH TR 2644 +0J)|FEA EE() 2675 F0)[ME HLN1)  27.16 G0.3)|EEH =) 2728 (+0.3)|H& BEE() 2752 +0.3)|EF mM() 2778 +0)|[MER 1) 2813 (+0.3)
AR E AR AR E i) BEBKER ik B RERFELL
58200| 80om INE BEE(T) 2:17.00|#f £ FN3E) 2:20.36|8REH E&®1) 2:22.85|FBF EE() 2:23.04|[RE W=A) 2:25.48|8F 7B t#Z=(1) 2:2659|FE B(1) 2:26.90|/NB BARE() 2:29.05
AR RN E AR E i3 STAEETIA AR AP RS KT iy
5208 1500m EERERRN 4:44.27(5E X20) 4:4489|HIR #H(1) 4:45.04| KH ETH(1) 44796 KE®) 4:50.68|#TH F#(1) 451.07|RK (1) 4:5514|Bd TELH) 4:59.84
AR E i3 £ STEnEE RS AT AR E il AR AP
5819A| 100mH Eith BRE) w1455 (+22)| KE ZZFE(1) w1470 22)|KE #XEF() w1503 +22)[F#E BHEH(1) wi578 +22)[AHE EE(1) w1676 +22)[HEX PpE(1) wi16.77 +2.2)[EX A1) w1694 (+22)[h#f BE({) w1758 (+22)
B AR 2] i) i REME FiAc] iy
- XTI BEQ) 32:02.25F# #EH() 36:34.65
5H19H|5000mW A Il
AR E 49.05|R&RHE 49.18[1Em@ 50.64 | FaIH IS 50.94[F = 50.95| L AR AR 51.91[E=&HHt 53.08| FARTGLLI 53.81
VRt e BA() BER pEW) B mEm) FE AHD HA fE0) BX BEXW0) =K BEZ(M) WA &AM
) 5H20H[4x100mR|#A& BEA1) AH FiR Il ZEBR(1) &R HLa) &k fRInFQ) HH #/E®1) #® BHEW IR ()
8 AER(1) FE B A BERA) &R A BE BEEQ w® BEHEG0) wWH BE30) Baa &Fn®)
HE FEQ) KE ZE0) M BREA) g BT A #EBEA) FAE EKO) AFR BEW) b BEW)
5820 | Emp BT BO 155K RE(D) T50[/ME BEMD 5|8 BROD EE R TO) 130[ 4 2=(1) TB[=E BROD 15
B Fid ] STAREE 3] i R#E&K R4t
5A197| Hempk Rk HaEW) 2.80|HFEk #EAM) 250|/"E BRk(1) 230 @@ TED) 220
B GR|/&H GR|JbigEkg: GR|iL#% GR
5A198| EiEk EIEE 0 w5.24 (+3.2)[fnth EH()  w5.06 (+2.6)[#aH BAEF(N)  wa90 (+2.3)[h)Il EBE() w488 (+33)[FL FE(1) waT4H45[AE FIPA)  waT2 (+25)|FHO K1) w7l +4N|BE Z=m(1)  wabs (+2.7)
B SR AR B FERCHR STERER &t ST AR EE
5A198 | R RA #HEW 10.58( & HEZ(1) 10.10{#2/R 722(1) 9.74|=H FEM 9.52[fEX E() 847|=H EB(1) 7.62|BEH#E #HE() 740(FE BE&H®D) 6.58
i RERFEL EldH Zi STAEETIA Z Eld b
5A207| Mg |FE ERD) 30.50(#&HE HHR(1) 27.23[)IIF =T#(1) 2589[1&E LE) 2493|E/0 BZ(N) 2331|835 Ha0) 19967 v~ t@w0) 1911 Bl &) 16.69
REb% EE FERFE L Eld R Jb i b vic) TR K
VEL 7t [REE 73 AR 41 TG 32 ER 29 RIS 28 Jb i 22 B 21 SRR 21
59200 100m 33 20) 11.98 (-0.3)[A /74—(2) 1234 (-03)[AEH HZF2) 1267 (-03)|KF FEK(©2) 1268 (-03)|FB3L FEB(Q2) 1291 (-0.3)|#HMA FHEQ) 1293 (-0.3)[/ME E#M(2) 1304 (-03)|ZHE FEF?2  13.18(-03)
ERATR SR El e Rt ik Zl STERER
5H208| 400m EEEED) 54.90[f K FH2) 57.32| 278 XER(2) 58.89|REx EMEQ) 59.89| /Il #TFE(2) 1:00.19|/\FE #%E(2) 1:00.34(5FE ZE() 1:00.67
B GR| #3145 REXH 53 2IE] 57 Al
5A207| 1500m |RE FAXQ) 4:31.61| 1L FT5(2) 44702[O £iHQ) 4:4759[BEA EXE(Q) 451,968 R RI(2) 45399[RTHE EZ() 4:55.25[#AE E#Q) 4:55.60|F A FEM(2) 4:58.87
SRR Zil RAEE AR KT STEREE FERS AT SR B
54200 3000m FE HFOQ) 9:50.62( =" B2 9:51.74[S 8 #WHRQ) 10:02.93|h & KEQ2) 10:06.35|E R HHTEQR) 10:09.21[ILTF 3EMA(2) 10:49.14| /B85 KE2) 10:53.66[;k A EE(2) 10:59.53
RS K GR| T &ifEFA RESE REE STERERTIA BE STEREE STERER
51908 100mH EL L) 14.07 (+1.8)|dLEE K3EU(2) 1485 (+1.8)| @4k MERQ 1503 (+1.8)[/hbL ZE(2) 15.20 (+1.8)|F £ B(2) 1552 (+1.8)[3RE R(2) 15.66 (+1.8)[{BF #EI(2) 1592 +18)|uX E&H@ 1652 (+1.8)
REE GR| &% STAREE TEXH B Fit ik EldH
54191 | 5000mw B’E AxOQ 25:23.30| &3k BHRQ) 25:59.74(48  /MEE(2) 26:00.61|Z%E M) 27:45.104B4T FEH() 28:17.61|ERE I 32:09.28(F%ME #ME(2) 38:23.91
FR U I 3 FER I Z il
53 49.39| 3L EpEE 50.07 | T35 50.10 (FREBL K 50.14[BERKFER 50.20 (&7 50.54]3%& 4t 50.96(Z 3l 51.04
;E K32 B BEEQ HA EHQ) AR ZFik2) Bl HTFQ) FE B@ 2= FRQ A# BHBEEFQ
Py 5H20H|4x100mR|EH /T74—(2) =R MERQ) A R®EFO) ML Z2(2) B K2 FE AR RF RO AR HEE2)
' " W) FH BEFQ) BE &1 BAE XEQ PRIE F5(2) Wik @) RFF MEQ) N EFR(2)
e BENEQ EH FIEQ =5 VEDQ) FE X2 LH B5052) A ®Q2) TR MR AR VD &EY(Q)
5H208| &k BA =202 1.69|#R HP1©@) 1.66|RE F&X2) 1.60( =87 Vm(2) 155|F# L KE(2) 1.45| LK BFi(2) 145| K% ®BEQ) 1.40| R BEFQ 1.30
FER AR tE Gigd) Bkl TS 53 Eks
sA190| Hempk L BE=EQ) 3.10|fFRR ZEH(2) 300[KFE KEQ) 270| =& £FQ) 260 ILA EZ=(2) 260
AR =GR|Jt i R R A3
sA1on| e |8 TFD w536 (A7)|[EA FHED 535 (H0)|EA KB  wh26 (22)|5M E@Q)  wh2l (22)|#/0 BE@ 514 (1 D|BE 252 504 (11|58 B2 wa99 (51| BE BAQ)  wa9a (:27)
FER REXH REXH Gigd) AR EE ikd ) B 53
5H19H| s =# BEQ 10.59|#F B3(2) 10.25|ERF F4(2) 9.00[BAR #E&K(2) 8.91[/ IS BE(2) 8.70[#H8 WwEM2) 8.60| EZE #ME(2) 845|180 FHEQ) 7.94
1EE GR|dt# ik B4 Edad Al FRERXE Bt ER
50190 | oty |3 EFWQ) 44.87|EH m(2) 40.64| I8 FRQ2) 30.05|HE ERQ) 27.38
1EE GR|1&® i 1EE
5190 v A 252 41.67|HHE FaIEQ) 31.34( Kz FIHTEQ) 31.28(FE b2 30.05( )11 HAIETE(2) 28.01(mikE HFHQ2) 26.65| KF BXER(2) 2601[F EKRQ@) 2583
Al Gik7d) A4 B RASE TS b3 il
2L E (AR 61 5¥ 33 RS 32 A 31 EE 27 EE 25 LR 21 AN E 21

w (wind assist) : IBE %5
=GR : R&F A5k

GR: R #rac sk




. W H - w2 2018/5/19—20 FHRE AW - FF I
(S AN e FTE S sk A AR B A (7 =t
mtas (BTN RE R A RERER (R 07) Wb, ARG SRR £ T A B L3 ) TREL KB Bl
EfeFAARA | m A - kR ) - SR - SCHUT T Fag b4 SRRk R A
Aft | &R LAz 20z 3fL [AA 5fiL 64 TAL 8{iL
58200 100m B HLVB) 11.85 (+1.9)[HE HTEG) 1223 H.9[BE EEG) 1227 H1L.9| AR KIEBIEQ) 1245 H1.9)|FHE #XEQ) 1245 +1.9)|Hk £HZEG) 1251 (H1.9)|R)I BEREQ) 1265 +H1.9)|AEHF FHESG) 13.09 (+1.9)
REE GR| R #RE STAREE REAXER DI ERATER %55 RERRE A
58200| 400m [ 6] 57.64[ILAK FTH(3) 58.21(%@# &HFZHEG) 58.46(ME ZEE(3) 5851 LIER BEQ) 59.44(# £EEQ) 59.67[;8 BR(@M) 1:00.77| 11§ Tv/Z&@3) 1:01.67
ST AR EE A R FaS FiAE ) R RERCH Z
5208 1500m hlE EFQ) 4:36.01(%R R ED@) 4:40.18| KT #(3) 4:4358|7kH RE®Q) 4:49.98|JI[R 2Z2(3) 4:50.49(FEH TEFL(3) 4:51.33| Kig /N&EQ) 4:51.98(FHE F4#(@3) 4:52.27
AR E F#it AR E B AR SR ElA"3:4 AR
58208| 3000m WE XEQ) 9:40.94| 548 EZXQ) 9:54.19| HHE EHEQ) 9:56.22|JEFH RE () 9:59.66|FHEH FER(3) 10:41.72| &A@ EH£FOQ) 10:45.82| =K FE@Q) 11:13.15| R X&) 11:14.97
AR E STaEEFIA AR E A KT B B I I B AR
5819A| 100mH HE HHHE3) wi13.85 (+2.8)[thE REF@Q) wi13.94 (+2.8)|EF #HIEG) wid15 (+2.8)|)IE FHHEGR) widd9 +2.8)[7EK FIRE) wila67 (+2.8)|dA KHEQ) w1487 (+28)[dbH DOEMNEG) wi601 (+28)[#B0 FEB) w1660 (+2.8)
L] SR B Fiid ] RERCER RN RE#Eit Z il
58207 100my |TFE BO) 1:01.33(HE F@Q) 1:03.63|IF)Il ZRK(3) 1:04.42|48 RFQ) 1:04.89| K3H <B#(3) 1:05.28|hiE FEQ) 1:06.29|i7% EFQ) 1:06.90|3# £ F#(3) 1:10.78
iy EW%E éﬁg;z} T KK Z3l b i) REAE i
- RE FIE) 26:12.58 (B EE@Q) 26:53.94|ARER HEAE(3 31:49.19
5419 H | 5000mw oo SR i
HEME 47.08| FEE 5 48.24( 3L dnkE 50.09 | AP XK 50.10(t& /= 51.33| R 51.40(db#% 51.69( A5 52.92
HLE HTEEG) Nsh BTHTE®R) KU MEEEQ) K HIEE) BEHF Q) E BEEQ) B XEFO) B BREQ)
5420 H [4x100mR| LA FT5(3) HE =F0Q) BE EXEEQ) B BEXE®) hEE FREG) iR #H3) 2% FXRO R HhA®)
UELTF B FEEG) mE RKEQ) L% N 6)) KBk #@3) Bk EDQ) B ZRREQ) il EHE) AR ERFE(S)
g HLIQ) HE HHHEA) A REHE3) S BRQ) 18 BIEE®) A EFREO) HLE FHEQ) 7l HAREEG)
EH TFHEQ) 160(f8E *4%(3) 155l Q) 1.50 B EkE®Q) 1.45|EF FIFQ) 1.40|7TH HEEEG) 1.40|#EH HEQ) 1.35
5A200| e EEEE pe-gic) i Z3l 57 EEREE i¥i
&8 BHAXEG) 1.50
2]
- ooy BB EETFEQ) 3.50|FER #HE3) 3.20|/hF Q) 2.60
5190 | Hempk i Fomr S
5A197| i BB BHTEO) 5.86 (+1.8)[#R EM3) w531 (+2.3)[Fk ENQ) wbh22 +2.N[HE =B@Q) 513 (0.0)|5H F&A@) 506 (+1.5)|EF RRHHQ) w498 (+4.2)|EME BETEG) w497 (+3.2)(AF EE®Q) 4.90 (+1.1)
=2 Jb i BE Zi AR E i EAREE i1
sH20m| e [/\H EZ@) w1197 (+38)[KIB MEEER) w1186 (+32)[HEHE BEE®B) 1178 HIND[EA TFHRG) wil24 (+23)|=I8 FI@E)  wi0.36 (+2.2)|#k EF®B) 10.24 (+05)|/NFE HEA@) w1004 +3.2)[AR HrEE(3) 9.80 (+0.5)
— REXH I LA 31 R 31 FHIT R 21
5200 | M FHE FHE) 39.93 Iﬁi&‘f EEHO) 33.49(#2fE EAG) 28.66(AS R#H3) 26.40(fRik EHE®) 22.20(%r &8 A &EH3) 20.05% ®WZEQ) 15.20
2’; F=IA) 50.31 %E F#H@3) 46.59 ﬁi ETETE)) 41.86 — 28 28 2H2E
= (" = E R ] KA R
5H19A| ~ve—1% 73 or|7EE s
5A19F| o0 EEEET ) 37.60|/1NII 3BAA(3) 34.44(124 E®) 3431[E5K Fik@Q) 32.98|F% FE®Q) 28.04|FH HIEE®S) 18.35|1EB%k FZXEQ) 16.50
PN X8 RETIED Zi FH KB i [ 54t E RS
3T A  |1BE 50.5 R E 47 i 43 ) 43 HEME 39 SLEREE 32 Z il 28 REAXHK 23
LARE AR 145 RERE 141 A 103 B 96.5 AR 86 B3 83 IdEE 74 REAXHK 67

w (wind assist) : JBRZH
=GR : K&Z A5k

GR: R #ric sk




